B R X a8 52 /1% 5k

[Of:peS:i33 @ fEsEsL
A% E3] HEER | MR AN E] E3] HE | MR
e
VNize1 | R 1 %M VMV36 1 2
SR BRI ~vae| ENE
VMZ62 2 VMV37 2
VMZ51/61 ; VMZ52/62
HEgg: 1 HE: 2
: {@@ @@* @ : {@@9 4%} %9}
\-_4—_—\ \—_4-_»\
4 =2 -
B
=
-
=ikl B =]
VMV06 VMVO07 VMV36 VMV37
Hegh: 1 Heg: 2 Hegg: 1 Heg: 2
1 1
{T 7}
— D2
o D2 " N D -
o T Ok B b T
— T T e
— - O] = |
. . T e
P = a P
P
O $EETEABHTN, FRME—NMaEReEL,
EJ HMETHATHTH, FRIH—NmaEEEL,
O SEELTRMITHY,
[Of:pesis3
BE s T st | 15O | iR RURERFIMR | BiOME | BKE  WIRSE | fiRERE| BB EEHERELAS
KB | &5 (RANRAI1) s P W(min) |D1(max) | D2(max) |L(max)|L1(max)| H(max) T c Sma R
C40 08A [12.7 785 | 7.92] 3.97 [16.5 | 17.9 | 12 1.5 VMV06-C40-1 | VMV36-C40-1
vmz51| c50 | 1 10A[15.875| 9.4 [10.16 | 5.08 [20.6 | 21.9 | 15.05 | 2.08 | — | VMV06-C50-1 | VMV36-C50-1
C60 12A[19.05 | 12.57 | 11.91 | 5.94 |25.48| 26.7 | 18 2.42 VMV06-C60-1 | VMV36-C60-1
C40 08A [12.7 7.85 | 7.92] 3.97 [30.9 | 323 | 12 1.5 [14.38| VMV07-C40-2 | VMV37-C40-2
vmz52| c50 | 2 10A[15.875| 9.4 [10.16 | 5.08 [38.4 | 40 15.05 | 2.03 |18.11| VMV07-C50-2 | VMV37-C50-2
C60 4| ACED) 12A[19.05 | 12,57 | 11.91 | 5.94 [48.4 | 495 | 18 2.42 [22.78] VMV07-C60-2 | VMV37-C60-2
C08B| 08B [12.7 7.75| 8.51| 4.45 [16.85] 18.2 | 11.8 1.6 VMV06-C08B-1| VMV36-C08B-1
vmze1/c10B| 1 10B [15.875| 9.65 | 10.16 | 5.08 |19.5 | 20.5 | 14.6 07 — | VMV06-C10B-1| VMV36-C10B-1
C12B 12B[19.05 | 11.68 | 12.07 | 5.72 |22.45| 23.4 | 16.1 1.85 VMV06-C12B-1| VMV36-C12B-1
C08B 08B [12.7 7.75 | 8.51| 4.45 [30.7 | 322 | 11.8 1.6 |13.92|VMV07-C08B-2| VMV37-C08B-2
vmze2/c1o08| 2 10B[15.875| 9.65 | 10.16 | 5.08 [36.15| 37.2 | 14.6 1.7 |16.59|VMV07-C10B-2| VMV37-C10B-2
C12B 12B[19.05 | 11.68 | 12.07 | 5.72 [42.1 | 42.9 | 16.1 1.85 |19.46|VMV07-C12B-2| VMV37-C12B-2
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